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Bachelor of Commerce (B. Com.)

2nd Year Examination 2024 [Dec.]

Advanced Accounting


Time : 2 Hours        [Maximum Marks : 70

Note : This paper is of Seventy (70) marks divided into two

(02) Sections A and B. Attempt the questions con-

tained in these sections according to the detailed in-

structions given therein. Candidates should limit their

answers to the questions on the given answer sheet.

No additional (B) answer sheet will be issued.

            

         





       
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Section–A / 

(Long Answer Type Questions) /    

Note : Section ‘A’ contains Five (05) long-answer-type ques-

tions of Nineteen (19) marks each. Learners are re-

quired to answer any two (02) questions only.

(2×19=38)

     (05)    

     (19)   

(02) 



1. A Company takes a lease of mine from 1st January,

2015 paying a minimum rent of Rs. 10,000 per an-

num, merging in a royalty of 1 rupee per ton of coal

raised. The lease of coal raised. The lease contains a

provision to the effect that if the minimum rent paid

in any year exceeds the royalty for the year the amount

of the excess may be recouped by the coal company

out of the royalty payable in the following year only.

The coal is raised as under:
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Pass the Journal entries necessary to record these

transacation in the books of the Coal Company.



       

          

         

      

        

 

  

    

     



2. What Journal entries are passed in the books of Land-

lord and lessee, regarding royalties? Explain with

analytical table and imaginary figures..

        
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



3. Give Journal Entries for the following:

(a) Issue of 1,000, 9% debentures of   `100 each at

par and redeemable at par.

(b) Issue of 1,000, 9% debentures of  ` 100 each at

premium of 5% but redeemable at par.

(c) Issue of 1,000, 9% debentures of   ` 100 each at

par but repayable at a premium of 5%.

(d) Issue of 1,000, 9% debentures of   ` 100 each at

a premium of 5% and redeemable at a premium

of 5%.

(e) Issue of 1,000, 9% debentures of   ` 100 each at

discount of 5% and repayable at par.

(f) Issue of 1,000, 9% debentures of   ` 100 each at

discount of 5% but redeemable at premium of

5%.

    

a    `    

     

b     `    

      
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c `

     

d `

      

e `

    

f `

    

4. What do you understand by winding-up of a com-

pany? What is Liquidator's Final Statement of Ac-

count? How is it prepared? Explain





 

5. What is meant by Internal Reconstruction of a com-

pany? State of circumstances in which internal recon-

struction necessary.

        



  
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Section–B / 

(Short-Answer-Type Questions) /    

Note : Section ‘B’ contains Eight (08) short-answer-type

questions of Eight (08) marks each. Learners are

required to answer any Four (04) questions only.

 (4×8=32)

    (08)      

      (08)   

  (04)  

 

1. What is the difference between Royalty and Rent?

       

2. A Pass the necessary entries in the books of Buyer

and Seller when goods are sold on Hire Purchase

System.


        

3. Write short notes on.

(i)   Stevedoring charges
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(ii)   Address Commission

(iii)  Primage

(iv)  Passage Money

  
(i)        
(ii)  
(iii)      
(iv)  

4. How  many types of branches are there? What are the

rules of accounting for them?


 

5. XYZ Ltd. forfeited 200 equity shares of `10 each

issued at a premium of  ` 5 per share for non-payment

of allotment money of ` 8 per share (including share

premium ` 5 per share), first call of ` 2 per share and

final call of ` 3 per share. Out of these, 125 equity

shares were reissued at ` 9 per share as fully paid.

Journalise this.

XYZ  `  `
      
  `     `   
  `    ` 
         
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  `     
       


6. ABC Firm has been earning following profit for last

five years. ` 1,10,000., ` 1,20,000., ` 1,30,000., `

1,32,000., ` 1,24,000., respectively;. Capital employed

was ` 4,00,000. Similar busuinesses have a normal

rate of return of 10% on capital employed. Calculate

goodwill by annuity method when the present value

of annuity for five years calculate at the rate of 5% for

one rupee is 0.282012.

 
`  `  `  `  `
   `    
 
         

     

7. What are the objects of preparing profile of loss

Appropriation A/C?

  
8. What is meant by dissolution of partnership firm? Give

necessary journal entries on dissolution?


    

*************
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